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B & & (ER27TF28H)

O HENFHE(FBADIHERAZEICELTA-B-C-DLWThLrDHERNMBRAINET)

T2 71 AICERASNSAREHNEEME LR L-HE.
A (FHd). REMMEX, #EihX, =ZEthX - SRtRIE 1.
Xix1. 31HGERA).

HH., RERERSHEM LT, HBHETIE+11.
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T, ERHEFEDLY FEA,

NAMEE .

40M (F)

1mbhizY. FHEHRIE1. 41
341 (Fd). =&HEX, HHEH#
38H (Ffild) MEIELIFERYFET,
6 8 M (fitiA) . REHX., HEkith
1 1HFERRA) . =&KX, /HE#MRTE+10. 83H
ABLTHEZEEWL-LET,

OFBHR (45 AH1—)L/m) (F23d)
AEERAERS EAXHE HEHE (1mIcD2F)
HERA Om~18mMZET 561.60M 158.08H
#HExRB 1 8mMiE~93mMET 841.32M 143.02H
HEXRC | 93ME~325mMET 1,000.08M 141.34H
#ERD 325miiE~ 3,222.72H 134.50M
QERMX, MR, ZEHK - SRR (43 AHPa—)L/m) (FtaA)
AREERAERS EARHE HEHE (1mIcD2F)
HERA Om~19mMZET 561.60M 151.00HM
FekB 19MEB~97mM=ET 841.32H 136.61H
HERC | 97TME~340mMET ,000.08M 135.00M
HERD 340miE~ ,222.72H 128.47H
Q=&tX. HHEHMK (42 AHPa1—)L m) (Ftad)
ABERAERS EARHE HEHE (1mIcD2F)
HERA Om~19mM=%ET 561.60M 147.46H
HE&EXRB 19MEE~99mMET 841.32H 133.41H
HERC | 9O9IME~348mMET ,000.08M 131.84H
HERD 348mia~ ,222.72H 125.46H
@)O#K (43. 95354HCa—)L/m) (%)
AMERERS EAXHE HEHE (1mMco2%F)
HERA Om~18m%ET 561.60M 154.39MA
HERB 18mMEB~95mM=ET 841.32H 139.68H
HERC | 95MEB~332mMET ,000.08M 138.04H
#ERD 332mia~ ,222.72H 131.36H
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CFH= ERR27F288E T2 7F188E 1 EE R
42m 6, 848H 6, 788H +60H +0.88%

QEMMKX., #HigtR, ZEtKX - 5HE (43 42HPa1—IL/ mDIFE. HiA)
CFH= L2 7F288E T2 7F1B8E 1 EEE R
43m 6, 715H 6, 657H +58H +0.87%

A=&HRX., HEMK (42 AH1—IL/ mMDBE. Bid)

CER=E ER275288% ER27F1BHE YR EE i
45m 6, 844H 6, 785H +59H +0.87%

@NOME (43. 95354AHa— )L/ MmDEE. i)

CFH= L2 7 288E T2 7F1B88E 1 EEE iR
42m 6, 707H 6, 649H +58H 4+0.87%

KIZEREOAACHERAEIE. BHICET5SREIH - 1HAHYTFH

2 2FEDSFMTY) TEOVWTHEYET,

(ERK1 8 FE~

TR BRSNS DEEIC DU T

TH2 64 TH 264 SHE ST 4 [
OB~ 11RBEKEN | 8A~10RAmKMEE | T Il
L N G @&
(8 2 EHE) 89,330Mt 86,020M .t 66,150Mt
PA=VAWE S STk S
(B B EHE) 86,340Mt 88, 000MHt 68,0200t
15 [R R AR 51,9408t 50,300Mt 38, 700MHt
B EHYREMEE DO EE

TEHREFMMEE=LNGENME (FR26E98~11 BESHEHE) x0.5239

+ 70NV FEHMEE (ER26E9A~11 AES#EHE) x0.0595

=89,330MH/tx0.5239+86,340M.“tx0.0595
=51,937.217H/t

L (10 AREmEIERA)
51,940Mt

BRFHEEEBEDRE

R4S ZEENER = T[RRI AE — B T [ R I
=51,940M. t—38,700M."t
=13,240Mt

L (100 ARETIFET)

13,200MHt
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I UMaE SRUTOIREIITIY ET)
11.68MH./m
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[21.08 (1+HEMFE) #FL1E) ABLET,
LR EDORKR.
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LR EDOREE.
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[21.08 (1+HEME) #FLI-E ABLET,
LERAEDHER.
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lEEFERYFET,
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